A= M= 24 OXEaE
MM A%} MQIEY QAT TN
S ST S=8 SYAH £4 (crel:@el)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
CIXIE &t 1t 15,339, 163 9,378,757 5,960,3%
= 1,983,000
[ 5,809,600
= 7,546,553
ARE MHEE DEEA &Y 6,438,340 3,684,000 2,754,340
= 1,983,000
[ 2,000,000
= 2,455,340
+E0UX =8 2AH =4 6,438,340 3,684,000 2,754,340
= 1,983,000
[ 2,000,000
S 2,455,340
A0HE OIOIHAIEl 24 6,500 58,000 51,500
201 &gr=2E| 3,500 5,000 1,500
01 AtR2teld| 3,500 5,000 A1,500
OH=2It MH=222 =Y 3,500
202 Ol 3,000 3,000
01 2LHOIHI 3,000 3,000
=Z0UA 58 224l &4 =8 3,000
ADE CIOIEAIEl & (2HAEXIR) 50,000 0 50,000
307 elztol o 50,000 50,000
02 2B AAHE X 50,000 50,000
OSEE HYITH 2HA XA 50,000
SR UIoIgHdH 32 = 98,000 26,000 72,000
201 gr=2E| 21,000 21,000 0
01 AtR2t2ldl 21,000 21,000 0
OK-CLOUD PARK A=A E22 MAH S 21,000
202 O 5,000 5,000
01 20| 5,000 5,000
OK-CLOUD PARK S=Xt=XI OHAE =& 5,000
207 AIHE 72,000 72,000
01 A2E Y| 72,000 72,000
OUIOIH Y s8de| H71ES 72,000
ALolz EH0IE I8t RE(ZIEEXY) 200,000 200,000
307 @120l & 200,000 200,000
02 QB AAIHE X 200,000 200,000
o%aoly otz a8 ted X& 200,000
ALojz EHOIE I8t R=(ZIEEXY) 675,840 675,840
308 XXM SOIA 675,840 0 675,840
N S| 2SO USE L4 HAE A 675,840 0 675,840
O=AJ1Y YHOIH ABESRENH 2 675,840
SNEEXF JIBAILXI# (=1) 3,000,000 3,600,000 £A\600,000
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= M= 2A O et
B 4%} MY DHTA T4
ool QUK B=8 ZHAH X4 (po: a2
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
s 2,000,000
& 1,000,000
403 XXM S K=01& 3,000,000 3,600,000 A600,000
s 2,000,000
& 1,000,000
01 XtXIEHHI A= 2 = 3,000,000 3,600,000 600,000
O¥=E2 HAHMA 3,000,000
s 2,000,000
= 1,000,000
2K 82 SHAH B2AIA8 25(=21) 2,408,000 0 2,408,000
= 1,983,000
& 425,000
403 RXIHMSKH=201H 2,408,000 0 2,408,000
= 1,983,000
& 425,000
01 IXIHH K22 X 2,408,000 0 2,408,000
=Z0UX S22 SAH SSAAE
= 2,408,000
= 1,983,000
< 425,000
2ldi0IH &Y sS4 81,000 145,000 264,000
HOIH =& HEAHIA Sl 81,000 145,000 264,000
SIHIOIH 24AM =& 81,000 5,000 76,000
201 B2 3AH| 80,000 4,000 76,000
01 AtR2eltl 80,000 4,000 76,000
OHUI0IH 24 848 &Y 77,000
QYOoIH &2 sy s 3,000
202 04| 1,000 1,000
01 =LHAbI 1,000 1,000
QHHIOIH E4AY g2 F& 1,000
ICTESE AlME |4 6,146,776 3,024,770 3,122,006
s 3,809,600
< 2,337,176
ICTeg =& 6,146,776 3,024,770 3,122,006
s 3,809,600
< 2,337,176
ICTEE Y2 =& 6,000 7,800 21,800
202 odb| 6,000 6,000 0
01 =LH4bI 6,000 6,000 0
OICTee d=RFal 6,000
KAWL RS XA (= 1) 259,200 202,150 57,050
s 129,600
< 129,600
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A= M= 24 OXEaE
Hm: |(TS2E AAY KA
&t ICTse =8 (chel: &)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
308 AFAIEHMISOIE 259,200 202,150 57,050
[ 129,600
S 129,600
11 SIS0 U3 4R AS A 259,200 0 259,200
OXSHNMHHMEXHA At 259,200
= 129,600
& 129,600
2 ICTes &= J1g K& 72,3% 77,000 N4,644
308 AHRIEMSOIE 72,356 0 72,356
11 S| 2SI B & HAS A 72,356 0 72,356
OZE ICTs8 M= J1g K& 72,356
NSS! N2AMS (I EXR) 300,000 300,000 0
307 @120l & 300,000 300,000
02 2B AAHE X 300,000 300,000
OMSsHsr XS 300,000
AZESION(SN) DIHIHS AMSE (=IHEEXIE) 360,000 350,000
308 NHXIEFMISOIE 360,000 350,000
1 SIS0t 4RSS A 350,000 350,000
AZE0(SN) DIHIHS At 350,000
NSESHAL 2.0 SSHHLASHINEEXIR) 875,520 875,520
308 AFXIEHMSOIE 875,520 875,520
01 HAHHBSEx= 875,520 875,520
OWSS2ScIAH 2.0 Sahety 2t 875,520
ICTOI'=HIOIEA A =& (I RIY) 112,500 112,500 0
308 XXM SOIA 112,500 112,500
11 SIS0 4 A AS A 112,500 112,500
OICTOI=HIOIA AR ALY 112,500
ZEHOIHAHOIA P=E2H A (SIHEEXE) 100,000 265,000 165,000
308 NHXIEFMISO0IE 100,000 265,000 165,000
01 MXHHBExS 100,000 265,000 165,000
OZADOIHATOIA =2 ALY 100,000
WAHIA At S X2 AL (2O E AL 115,200 0 115,200
308 AXIHMSOIA 115,200 115,200
11 S 2SHUSE L EASAISH 115,200 115,200
OXSWAHIAAE S X 115,200
ADEYRIX 28 ¥ &é Al (= 1) 3,956,000 0 3,956,000
[ 3,680,000
= 276,000
403 AXIEHMSA=01A 3,956,000 0 3,956,000
= 3,680,000
& 276,000
01 AXIEHHA= 2L 3,956,000 0 3,956,000
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A= A= M OXIE a0t
M TS Aoty |4
&t ICTse =8 (chel: &)
4T A - BH - E9I(E0) - NTAY - BES ol &4 aes HREY
OANIEYC|X B2 L &t At 3,956,000
= 3,680,000
< 276,000
CXg 2E= &g =4 2,644,000 2,500,000 144,000
BIEHHA &Y DI8E 2= 2,644,000 2,500,000 144,000
HEHAZ AEcte CIXE M& K22 2F(30t 1,000,000 2,500,000 1,500,000
ESESONECD)
307 eIzZrold 1,000,000 1,000,000
02 QIHHAAHES 1,000,000 1,000,000
OXROI8t 23 HIEtHA EHE = 1,000,000
HIEtHA =8 HEIZAA ZH(ZIHEEXY) 1,500,000 1,500,000
308 AFXIEHMSOIE 1,500,000 1,500,000
11 S| 2S0UHetE o X A A 1,500,000 1,500,000
ONEHA =8 ZEIZHA =d 1,500,000
121 DICIHMEH RE(2HEEXR) 144,000 144,000
308 XXM E0IH 144,000 144,000
11 ST 2SI HEHE A X E A 144,000 144,000
©12! DICIoHE 2= 144,000
Y R2AZHI(CIXE LS D) 29,037 24,987 4,050
JlI=22ZH 29,037 24,987 4,050
EA2Z Jl2Z 29,037 24,987 4,050
201 Zer=23H| 20,204 17,541 2,663
01 AFR2t2ltl 20,204 17,541 2,663
ORAM2Y AtRZeld 20,204
202 04l 5,233 4,446 787
01 2LHodH| 5,233 4,446 787
ORAM2E =AY 5,233
203 2= 3,600 3,000 600
M4 RA2EYRFAH 3,600 3,000 600
©202! 0I5t 300,000+ 122 3,600
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